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MERRSBENG 346, 690, 850 334,463,018 12,227, 832
Iy | REEETF M RN 840, 000 5. 346, 560 -4, 506, 560
H | & | ZOMOUNE 0 855. 080 -855, 080
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SE FEE 42, 388, 199 54, 890, 992 -12, 502, 793
EJ) EHE 45, 595, 854 26,032, 227 19, 563, 627
B i me eiosns 131, 460 125, 736 5,724
)gﬁf & AmEZNE 35, 569, 376 21.179. 815 14, 389, 561
i EEBN & T RIET SRR -8, 857,074 ~11, 052, 207 2,195,133
Y-EREBERET (2) 400, 967, 570 378. 571, 157 22, 396, 413
S-EXEMERELR (3) = (1) - (2) -53, 436, 7120 =31, 906, 499 =15, 530, 221
I SRR EC SR ING 12 18, 267 -17, 555
£ ‘fé ZOMDY —C ZEBNIMNS 2,013, 220 1 639 857 373, 363
}é Y-EXERIMNEET (4) 2,013,932 1.658 124 355, 808
| [SKILFR 221, 699 0 221, 699
st i 2OMOY—CREB 0 0 0
| [prexEmERRT (5) 227, 690 5 227, 600
o |P-EXEESMEREEE (6) = (4) — (5) 1,792,233 1,658, 124 134,109
EEERAERE (7) = (3) + (6) -51, 644, 487 -36, 248, 375 -15, 396, 112
s B RS BN EUN S 0 16, 550, 000 -16, 550, 000
Iy |BIEBEZEER 380, 000 0 380, 000
i | ZOABOFFBIINES 0 11,016, 000 -11,016, 000
E FERIUNEEST (8) 380, 000 27. 566, 000 =217, 186, 000
1o BEREHEARE 0 0 0
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z) i EEHB & E SR 1578 1 16, 550, 000 -16, 549, 999
T |zotossBEs 0 11.016. 000 ~11, 016, 000
HERIERET (9) 3,578,909 27. 566, 002 -23, 987,093
ISBIEHESE (10) = (8) — (9) —3, 198,909 -2 -3, 198, 907
WHREENSEESE (11) = (7) + (10) 94, 843, 396 -36, 248, 377 -18,595, 019
’fé AR ECE BN IRIRGERR (1 2) 434,713, 876 365, 154, 253 69, 619, 623
& SRR CEENMERERE (13) = (11) + (12) 379, 930, 480 328, 905, 876 51,024, 604
o | EASEGHE (14) 0 0 0
4 | zofeomREEER (15) 53, 595, 554 105, 868, 000 —92,212, 446
# [TOMOBIRTETEE (16) 0 0 0
o [REsmECEEEEEE (17) = (13) + (14) + (15) - (16) 433,526, 034 434,773, 876 1,247, 842




